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T 1147} A > A2 EAl (S48, )
34y 33,710 150 5,056,500 | X}zl 440,000 ¥ x 6 o = 2,640,000
.m_é : 24,710 5 123,550 | Uxt= 18,000 ¥ P 150 = N.&o_oa_
3y a_q.s 12 188,520 | Ux= 9,000 ¥ x 5 E 45,000
A 167 5,368,570 5,385,000

% 8l g9y Bkal @ 16,4309
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A RS A2 A Uk [1,2,5,6%]

CAd ey 118

= 11547} Ad U A28A (29:¢.%8.0)
514y 18,170 118 2,144,060 | A} 450,000 ¥ x 4 o = 1,800,000
: : A= 3,000 € p 115 & = wa.ooo|
7 118 2,144,060 2,145,000
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i 117t A SR A= BA (T4, o)
sty 16,070 56 899,920 | Xl 450,000 ¥ x 2 o = 900,000
A 56 899,920 900,000
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A4 o] Of (1,29
A% : 34 60
ex 19167} olgl L AFYA (B9:9,9.0)
&rAl 15,500 60 930,000 PN 450,000 ¥ X 2 o = 900,000
AAE 500 ¥ X 60 9 = il Iwo.ooo
Al 60 930,000 930,000
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o ¢ 8P 1179

Sy 19157} o9l aqton TG (9:2,9,)
shay 36,920 117 4,319,640 | xrepy] 700,000 x 4 tf = 2,800,000
i Atz 12,000 9 x 116 - H_%N_oool
N Q&tg 1,200 |om X Smw 3 = wa,mool
7 117 4,319,640 4,331,200
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